WTERL8-3 fHERY A L (FEZES))

X20254FAH10HICAER L 72 D26, TiloEmaEIEL TnEd,
Z B O f 2 — IR GRfAHERI8-2L o EHEIEH)



BIRDHEERTT

NEE (1) 1F BN |BEENSEEET 1 1@ - - -
HREERE 1F 10 T35 1 = 360 260 600
WEER= 1F 11 BT 1 = 650 650 1170
HWERE 1F 18 |HbBRiE 1 12 630 630 1220
BEE (2) 1F 8 FLES 1 B 450 500 460
SEEE (2) 1F 12 |®&F 1 = 520 580 820
ISEEE (2) 1F 20 T a— 1 = 480 390 220
ISEEE (2) 1F B |k (BERER) EAY 2 ] - - -
BERE 1F 2 BF 1 = 490 600 690
S 1F 4 BF 8 = 620 610 930
BERE 1F 5 E1 1 = 520 880 880
I 1F 8 BT 1 = 640 590 1100
I 1F 9 FrExy b 1 = 620 460 700
BREE 1F 10 |&\7F 3 = 520 580 820
BRE 1F 11 X 8% 1 v 910 600 1090
BRE 1F 12 | &8 1 = 520 880 880
BREE 1F 13 |#L 1 = 700 1400 710
BER=E 1F 14 |B\F 1 = 590 610 890
= 1F 15 |&F 2 = 600 520 780
S 1F 16 |&¥F 1 = 560 440 750
BERE 1F 17 |#L 4 = 700 1600 710
S 1F 19 FLE 1 = 420 440 440
BERE 1F 20 |®B7F 1 = 600 520 780
BERE 1F 2 M 1 = 810 1800 700
BERE 1F 3 BF 5 = 610 610 950
BERE 1F 5 RT7A4 FR=F 1 = 80 1200 910
BERE 1F 6 M. 2 = 700 1800 720
BER=E 1F BN |EERET 1 = - - -
HBR=E 1F 1 T4 FR—R 1 = 110 1250 970
HEE 1F 2 FLER 1 = 440 550 440
HR=E 1F 3 M 1 = 700 1600 700
HR=E 1F 4 BF 1 = 610 610 950
HEE 1F 5 AR 1 = 400 880 970
HR=E 1F 6 V77— 1 = 850 1950 750
HR=E 1F 7 V7T — 1 = 770 1780 780
HEE 1F 8 F—=7N 1 B 600 1200 460
HREE 1F 9 F—=7I 1 = 650 1250 460
HR=E 1F 10 F—7N 1 = 550 1200 410
BR=E 1F 11 V7T — 3 = 830 850 740
HR=E 1F 12 V77— 3 a 770 740 780
HRE=E 1F 14 |48 1 = 400 880 970
BR=E 1F BN [FreExy b 2 = - - -
BEREEERWCK 1F 1 ] 1 =1 360 260 600
BEREEEGWCK 1F 2 Y==Ky o 3 = 200 300 700
BT (1) 1F 1 I35 1 = 360 260 600
BEREBE 1F 3 i 2 = 460 1800 1820
BERERE 1F 6 i 2 = 480 1500 1810
BEREHE 1F 1 =) 1 = 460 690 1040
BEREBE 1F 5 Ay h— 1 = 520 460 1790
BEREHE 1F 7 =S 1 = 900 1500 710
EEREHE 1F 32 FLe 1 = 170 470 350
BEREBE 1F 33 FLEAR 1 = 490 510 400
BEREBE 1F 18 F—7L 1 = 700 1800 700
BEREBE 1F 19 |®\7F 4 = 680 550 800
EEREHE 1F 22 |BAR—-LFrbExvb 1 = 540 650 650
BEREBE 1F 30 (ML 1 = 700 1400 700
EEREHE 1F 37 |AH 1 = 310 500 600
BEREBE 1F 39 |4 1 a 700 420 700
BERELE 1F 41 M 1 = 310 510 600
BEREBE 1F 42 |AHR 1 = 310 510 600
BERERE 1F 44 |R—F— a3 v 1 = 330 940 1550
BERELE 1F 46 | 1 = 610 1800 700
BEREBE 1F 47 | AR 1 = 320 500 610
BEREBE 1F 48 M 1 = 550 1600 720
BRE (1) 1F 5 I35 1 = 360 260 600
HREE 1F 1 F—=7 1 = 910 1500 340
REE 1F 2 BF 1 = 590 500 750




SRR E

RIROEER
D
HEE 1F 3 N H—=F vy 1 =) 420 880 1650
HEE 1F 4 TR 1 = 390 900 1200
TERRS ABRE 1F 18 |3 () 1 = 450 1800 700
THERSAETEEE 1F 61.62 |2 (RF—/ - F@E) 10 2 = 270 920 1920
TERSATEES 1F 60 |EZR (RF—-F@E) 8 1 =) 270 940 1950
TERRSAZTEES 1F 73~80 |EZE (RF— - @@E) 11 8 = 480 920 1920
TERSAZTEES 1F 85 T—-FyvIF—=7L (B) 1 = 900 1800 700
TERSAZTERS 1F 63~72 |EZE (xF— - m@E) 11 10 = 480 920 1920
TR AETEHE 1F 4142 |F—F>5 vy 2 =) 320 495 610
TEREATERE 1F 90 |&FEM 1 = 450 1480 700
TERSATERE 1F 130 |Fr2X&ftlEFRHY (K) 1/2 2 = 540 560 870
TERSAETERE 1F 132 |F v 2&2{FHFRAEL (R) 1/3 3 = 520 560 870
TERSATERE 1F 14 |FvExy b 3 = 620 387 1335
TERSATERE 1F 20 |FrEXRv b 1 = 620 455 700
TERSATERE 1F 84 |1EEM 3 = 900 1800 700
TR ATEBE 1F 49 | B 1 = 460 900 1800
TERSAZTEEE 1F 147 | R& v x> IBmF1/4 4 = 530 560 780
HhERS AEEHEE 1F 117 | RF—LFv 2 1 & 320 495 610
TERSATEES 1F 118  |#&1r1/3 2 = 30 930 1400
TERRSAZTEEE 1F 52 | X&ILTvY 1 =) 250 440 1980
TERSAZTEES 1F 152 |5v7s 1 = 460 375 1040
TERSATEES 1F 13 |dEfEEE 1 = 380 880 1710
TERSAZTEES 1F 50 |AEE 1 = 550 450 1280
TERRSAZTEES 1F 120 |@1z3/3 1 = 30 930 1400
LHEEEE 1F 1 i 1 = 300 890 1770
LEEaEE 1F 2 BRE 1 =) 480 550 1160
LigEm=E 1F 3 ~Ny R 1 = 920 1900 1550
ZEHEERE 1F 4 M 1 = 450 1800 700
LipEE= 1F 5 0y h— 1 = 610 520 1790
Ll EEE 1F 6 0y h— 2 = 510 900 1790
LigEEE 1F 7 1 1 = 290 620 890
ElRaEE 1F 8 FLE 1 = 240 460 340
LigEmE 1F 9 BFL Y 1 & 450 490 260
ZEHERE 1F 10 0y h— 1 = 520 460 1790
LHEEEE 1F 11 |B7F 1 = 540 510 850
EREEE 1F 12 V77— 1 = 750 1620 720
ZiE= 1F 1 il 1 = 460 580 1200
ZiEE=E 1F 2 BT 1 = 510 450 800
LHEE 1F 3 Oy f— 1 = 380 880 1790
ZiHEE 1F 4 V77— 1 = 710 1800 680
LiREE 1F 5 1 1 = 290 420 880
ZHEE 1F 6 v 1 = 30 1100 1500
LHEEE 1F 7 1 1 = 290 420 890
ZREE 1F 8 1 1 = 400 910 1060
LiREE 1F 9 M 1 = 600 1800 700
ZHEEE 1F 10 |#M 2 = 700 1000 700
ZHEE 1F 11 | 1 =) 600 300 730
ZHEE 1F 12 ] 1 = 360 260 600
ZHEEE 1F 13 |B7F 3 = 610 620 920
ZiRE=E 1F 14  |BT 1 = 460 460 750
LiHE=E 1F 15 0y h— 1 = 520 460 1790
ZiE=E 1F 16 |48 1 = 290 440 600
LHEE 1F 17 |& 1 = 450 1200 430
ZHE=E 1F 18 |y avFRy 1 = 690 650 1270
LiREE 1F 19 |B7F 1 = 540 510 850
ZHEE 1F 20 |1 1 = 290 890 620
EB=E (3) 1F 1 = 1 = 450 700 700
EB=E (3) 1F 2 RIIT 1 =) 500 1500 1080
EBRE (3) 1F B Ry b 2 = 1500 1800 -
BT (3) 1F 1 = 1 = 350 500 730
BT (3) 1F 2 I35 1 = 360 260 600
fREnBIRE 1F 1 0y h— 1 = 520 640 1820
fREnBIRE 1F 2 0y h— 6 = 620 900 1800
fRREEE 1F 3 Ty ke 1 = 620 550 320
R BE=E 1F 4 V77— 1 = 800 1830 760
R BIEE 1F 5 0y h— 1 = 460 520 1800
S 1F 6 F—=7I 1 = 500 940 370




SRR E

RIROEER
D
fRREEE 1F 7 F—7I 1 = 450 1800 700
fRnBIE 1F 8 BT 6 = 460 430 700
fREnEIRE 1F 9 F—7I 1 =) 450 1800 700
fRREEE 1F 10 |&234 1 = 450 1180 2000
BnEaEE 1F 11 |AEE 1 =) 450 450 890
R EIRE 1F 12 |R74 FR—=F 1 = 550 1280 1810
= 1F 13 I35 1 = 360 260 600
= Ry 1F 14 |8 1 = 290 450 1720
EREERE 1F 1 F—7I 1 & 600 1800 700
EREEE 1F 2 BT 1 = 590 540 810
EREEE 1F 3 M 1 = 700 1000 700
EREEE 1F 4 BT 2 = 330 330 570
EREEE 1F 5 BT 3 =) 480 430 740
EREEE 1F 6 e 1 = 410 700 900
EREEE 1F 7 NR—F— g 1 = 330 1640 1530
EREEE 1F 8 A 1 = 400 700 700
=ic)=Fe 1F 9 RUE 1 = 500 470 1260
EREEE 1F 10 |23 1 = 330 880 1780
BREEE 1F 11 Ay h— 4 =) 520 900 1790
EREEE 1F 12 |5—7n 2 =) 600 1800 330
EREEE 1F 13 | 1 = 450 1800 700
BREEE 1F 14 |# 1 = 450 1800 700
EREEE 1F 15 V77— 1 = 700 700 690
EREEE 1F 16 |48 1 = 560 1710 910
EREEE 1F 17 |48 1 = 350 970 500
EREEE 1F 18 | 2 = 350 970 500
EREEE 1F 19 |& 1 = 440 450 750
EREEE 1F 20 |BFLvY 1 = 340 460 280
EREEE 1F 21 h—2%— 1 = 240 370 240
EREEE 1F 22 |FLE 1 = 240 460 340
EREEE 1F 23 |Rv b 1 = 300 240 330
EREEE 1F 24 |1 1 = 350 970 500
BREEE 1F 25 |88 1 ] 400 300 1640
EREEE 1F 26 |BT 1 = 400 450 750
REE 1F 1 i 1 = 400 880 880
FAERE 1F 2 i 2 =) 380 880 1790
FAEE 1F 3 ] 1 = 360 260 600
£EE (3) 1F em o (# (B) 4 = 1800 600 700
2EE (3) 1F Bm BT (Ke) 13 = 580 540 760
2E=E (3) 1F Bm | CRE) 1 = 1800 450 700
2EE (3) 1F BMm |BF (F-FvRE—{) 1 = 520 450 830
2%E (%) 1F Em |BmEF (B) 1 = 460 500 780
FEREEE 1F 1 B 5 R i 1 = 900 590 -
FEREBE 1F 2 REE (BIERA) 2 = 900 390 880
FRREBEE 1F 15 V77— 3 AENS 1 =) 1830 670 770
FRREBEE 1F 16 |F—7n 1 & 1200 600 400
FEREBHE 1F 17~18 |V 77— 1 A#HS 2 =) 700 630 630
FRREBE 1F 23~24 |7 —F I TFRY 2 = 800 800 640
FEREBE 1F 26 |/N—F— 3> 1 & 1190 420 1800
FEREBE 1F 27 |—F—v 3> 1 = 900 400 1400
FEREBE 1F 34 J—% ITFRY 1 = 800 800 640
FEREBE 1F 35 hovz— 1 = 1500 640 970
FEREBE 1F 38 vy 1 = 700 500 900
FPEREEE 1F 42 | RX—=F— 3> 1 = 900 400 1400
FPEREBE 1F 43 |IrEE 1 = 880 385 880
FEREBE 1F 47 Sy 1 = 1760 505 970
BE (3) 1F BM |[LEDZRKRy r&YT Y B #9300 & - - -
3= 1F 2 FEa 1 =) 750 540 1900
WRE 1F 1 F—7I 1 =) 880 450 680
HRE 1F 3 RE 1 = 540 450 1330
M= 1F 4 KE 1 = 1200 450 1800
MRE 1F 5 AL 1 = 1800 450 700
MR=E 1F 20 |REE 1 = 620 350 1500
ME=E 1F 21 | R&S v 1 =) 780 290 1500
W= 1F 271 |REREE 1 = 600 650 1050
MEREE 1F 1 E45H 2 = 610 270 420
MRERNEE 1F BN |[EEAEFrEXR 1 = - - -




SRR E

D
HRIEEE 1F 3~4 I Y BAM 2 = 1800 750 700
HRIEEE 1F 5 PN 1 = 2800 450 1000
FRIEEE 1F 6~8 |/—F—> 3> 3 = 900 1390
HRIEEE 1F 9 Y EHH 1 = 180 750 700
H—R=E 1F 1 1 2 = 460 2570 1820
h—R=E 1F 2 KET— X 1 1@ 460 910 1810
Hh—R=E 1F 3 i 1 = 500 900 650
Hh—R=E 1F 4 iRy 7 2 1 1® 380 380 520
h—R=E 1F 5 FE 1 | 600 600 1470
Hh—R=E 1F 6 N H—=F vy 1 = 500 900 1760 |BR—L 8l
Hh—R=E 1F 7 N H—=F v 2 = 500 900 1270 |BR— L&l
h—FR=E 1F 10 |1 3 = 460 1800 1820
Hh—FR=E 1F 11 |&k= 1 = 920 620 860 |E&R— /L&
h— K= 1F 12 |nvH=Fv7 1 = 570 670 1090 [BoR—L3l
Hh—R=E 1F 13 |8 3 M 20 460 1570
Hh—R=E 1F 14 |&KES—2Z 5 1@ 460 900 1810 |BR—al
Hh—FE 1F 15 |~y H—Fv7 1 B 500 880 1710 | R —L 8
Hh—FRE 1F 16 J3f8 1 = 360 260 600
Hh—R=E 1F 17 |Z=RER 1 =) 350 420 1010
h—R=E 1F 18 0y h— 6 = 620 350 1400
h—R=E 1F 19 0y h— 4 = 620 460 1400
Hh—FR=E 1F 20 0y h— 4 = 460 850 270
Hh—R=E 1F 21 0y h— 2 = 460 860 290
H—RE 1F 22 0y h— 1 = 620 460 700
H—R=E 1F 23 Oy A— 1 = 620 350 1400
Hh—R=E 1F 24 |URHhE 1 = 380 880 1790
Hh—FR=E 1F 25 0y h— 3 = 700 460 700
Hh—F=E 1F 26 Oy hH— 1 =) 630 390 700
h—R=E 1F 27 Oy h— 1 =) 620 350 1400
h—R=E 1F 29 |48 2 = 450 1840 1000
Hh—R=E 1F 30 |18 2 = 900 1260 1200
Hh—FRE 1F 31 ayh— 1 = 990 1360 920
H—R=E 1F 32 |BREH 1 =) 450 410 570
Hh—R=E 1F B |BEREH- FREE 1 = 2650 1650 2200
H—R=E 1F BN |BRABUR 3 " 600 600 65 |AH
H—R=E 1F B |BRABUR 2 %) 600 600 90 |AH
Hh—R=E 1F B |EBRABUR 1 M 600 1200 65 | A
Hh—KR=E 1F B |BRABIR 2 M 600 900 65 |AH
Hh—R=E 1F B |BRABUR 1 " 450 900 65 | A
h—FR=E 1F B |BRT— AR 2 %) 820 1030 65 | A
Hh—R=E 1F BN |BEEES AR 13 M 430 840 45 |EBH
Hh—R=E 1F BN |BEEESAWIR 5 M 340 900 25 | K& - B BT
H—R=E 1F BN |EEmEEsAR 4 % 240 900 25 | KRB - EAEEAT
Hh—R=E 1F B |BEmEESARR 1 % 270 810 25 | KRB - EAEEAT
H—R=E 1F Bl |EmERER 4 M 500 600 25 | KRB - EAEEAT
H—R=E 1F BN |EEmEsARR 8 M 350 600 25 | KRB - EAEEAT
Hh—R=E 1F B |EEmEEsABR 10 M 260 600 25 | K& - ZXEEA
h—R=E 1F BN |EEERABR 4 U5d 250 300 25 |R&E - ZAEEfT
h—F=E 1F BN |EEERAWR (AER) 2 M 240 900 310 |AR&E - ZEAEEAS
H—R=E 1F B |BEmEmESATE SR 8 M 310 440 65 | A& - EAEEAT
H—R=E 1F B |BEEmERAMET — X 2 = 260 450 450 | A& - ZAEEANF
Hh—R=E 1F B |RABRRA 1 = 300 300 430 |t HEARR
H—R=E 1F B | ARy RSA 31 = 110 110 230
h—FR=E 1F B | REYRFA 4 = 110 110 230
TAINLE 1F 2 YN8 1 = 520 1520 1850
TAINLE 1F 6 F—7I 1 = 450 1800 700
TAINLE 1F 7 BT 1 = 500 560 920
T 4IILE 1F 9 TZAE—A VAR R — 1 = 130 580 90
TAILE 1F 10 |HREE 1 = 290 200 180
TANLE 1F 11 TaTNI v —R (FREER) 1 = 350 470 170
TANLE 1F 12 TaZIvir—2 (B (FBXRV I v ) 3 B - - -
TAILLE 1F 13 |[Yas03vs5—2 (ETHHAXT) 2 B - - -
BT (4) 1F 1 FLEAMETFLE 1 = 660 1090 1600
BT (4) 1F 2 TZR— 1 = 650 480 1060
HEfFEME 1F 2 BRyT — X 8 = 600 600 2120
EfEME 1F 3 BRI — X 16 = 650 650 2100
EHEME 1F 4 BT —2X 1 = 750 750 2110




SRR E

FIROEERT
D
EHEEME 1F 5 BRT— X 1 = 900 900 2110
EFEME 1F 6 BRT — A 1 = 300 300 1900
EHEME 1F 7 1 2 = 650 500 660 |EZR— /L&
EfFEME 1F 12 |18 1 = 620 1820 2400
EHEME 1F 13 |48 2 = 470 1220 2100
EfFEME 1F 14 |48 2 = 470 1840 2150
ERBEME 1F 15 |18 15 = 300 900 1810
EFEME 1F 16 |727ULRy IR 1 B 560 1250 620
EBEME 1F 17 TRy 7R 2 = 590 880 450
EfFEME 1F 18 |7Z7ULKRy IR 1 = 600 600 600
EFEME 1F 19 TOYLKRY 7R 2 = 600 600 400
HEBEME 1F 20 |EBEIR 3 = 500 800 1260 [BR— L&l
HEBEME 1F 21 | —=F—vav 1 =) 400 1990 1600
HEHEME 1F 22 |BRT—R 1 =) 600 600 1510
HEBEME 1F 23 |BRT—2R 1 = 600 600 1360
HEBEME 1F 24 | 7O ULKRY IR 1 = 600 600 600
EHEME 1F 25 |BRT—R 2 = 600 600 1610
EFEME 1F 26 |BRT—2X 1 = 600 600 1030
EfEME 1F 271 |BRT—2X 2 & 450 450 940
EfFEME 1F 28 |BERT—R 1 = 1000 600 1360
EEME 1F 29 *rbxy b 7 = 500 540 660 |E&AR— /L8l
EHEME 1F 30 FrbExy b 2 = 650 500 660 |E&H— L8
EBEME 1F 31 FrbExy b 1 = 540 890 660 |E&AR— L&
HEBEME 1F 32 TRy IR 1 = 600 600 600
HEBEME 1F 33 (AvA—FvY 1 = 900 500 1300 [BxR— L&l
EBEME 1F 34 |BRT—R 3 =1 450 700 1780
HEBEME 1F 35 |BRT—R 4 =) 450 1400 1790
EBEME 1F 36 |BRT—R 1 = 650 650 1420
HEBEME 1F 37 |BRT—R 1 = 750 750 1210
HEBEME 1F 38 0w h— 1 B 460 850 250
HEBEME 1F 39 Ovh— 1 = 460 850 360
EfEME 1F 40 |#L 1 =) 740 1060 740
EfEME 1F B |BRE 10 B - - -
EfFEME 1F Bm (BT 3 = - - 2300
RN fEE 1F BN |[RF—LB (FEF v ) 1 = 3600 1600 1350
RIS & 1F Bm |(BR-L"T s 3 = 1100 450 1100|E& R — L8l
RN R 1F B |BR—LEEZ R 3 a 900 535 655 | R — L&
RN /= 1F B |BR—IVERR DS 1 a 900 500 1755\ R — L&
IEEE 1F 1 F—=7I 1 B 1800 600 700
1BEE 1F 2 F—=7N 6 & 1800 450 700
v ov—F 1F 1 i 3 = 470 1780 2120
by oY —F 1F 2 F—7 N 3 = 450 1800 700
FSyov—F 1F B[RRI 10 A - - -
by oV —F 1F EBm |(KEDHR 1 a - - -
oy o —F 1F Bm kLI 3 = - - -
bZw v —F 1F B |ER 3 = - - -
R RE 1F 1 F—=7N 6 & 780 600 730
TR E 1F 2 R EEES 2 = 1320 1460 2570
T ZERE 1F 3 BT 3 = 540 540 790
TR RE 1F 4 Ty =Y F T — 1 = 680 760 540
TR 1F 5 BT 4 = 550 520 750
TSR 1F 6 BT 1 = 440 420 740
R RE 1F BN | AKEBEEE 3 = - - -
R 1F BmM  |(FREHE 4 B - - -
TR 1F BmM  |(MRAT—7L 8 = 180 90 75
TR 1F BN |HEAEE 10 = - - -
R RE 1F B |ME & KR AREE 1 = - - -
R 1F BN | AREN—T—2 3> 7 = - - -
TR E 1F B |ZfFE 1 = - - -
IR ARE 1F B |7 TRFEEESER 1 M - - -
R RE 1F B |R—F - A= FEE 10 M - - -
R 1F BN |EED 5 %S - - -
AZARE 1F BN |0FET5—X 14 = - - -
PS 1F 1 1 1 = 620 1860 1800
PS 1F 2 0y h— 1 = 480 840 1790
PS 1F 3 BT 2 = 600 630 880
PS 1F 4 BEA 1 = 500 500 570




SRR E

RIROEER
D
IR 1F 1 M 3 = 700 1600 720
R 1F 2 BT 6 =) 610 610 980
R 1F 3 T7av 4 =) 550 650 1480
BRI = 1F 4 Y AVTFRY 1 = 780 790 1300
IR E 1F 5 LRE R 3 =) 390 390 670
R = 1F 6 ZERUE 1 a 350 350 650
Y& e 1F 3 I35 1 = 360 260 600
R EEIEE 1F 1 74 FR—F 1 = 530 1820 1860
RREEE 1F 2 £ 2 & 400 880 880
R EEIRE 1F 3 18 1 = 920 450 1330
R EEIEE 1F 4 FrtExv b 1 = 390 700 700
RREEE 1F 5 M 2 = 700 1400 700
RREEE 1F 6 M 6 =) 700 1000 700
R B 1F 7 F—7I 1 = 900 1800 700
hRERE 1F 8 BT 4 = 440 440 740
R B E 1F 9 Y AVTRY 1 = 500 590 1320
R B 1F 10 |y arFzy 1 =) 650 620 1220
R B E 1F 11 |M 1 = 800 1000 700
R EIEE 1F 12 |# 1 =) 800 1400 700
R B 1F 13 |FvExRv b 1 =) 460 620 710
R EEIE 1F 15 |&H48 1 = 200 420 2070
R EEIEE 1F 16 |&A8 1 = 280 610 1810
RREIEE 1F 17 |B7F 1 & 530 420 790
R ESIRE 1F 18  |B7F 2 = 620 480 940
R B 1F 19 |4 2 = 600 300 610
FRREIEE 1F 20 Oy h— 1 = 510 320 1790
R ESIRE 1F 21 Oy h— 2 =) 510 900 1790
R EEIRE 1F 22 |EE 3 = 380 880 1790
FRREIEE 1F 23 |#8 1 = 330 270 910
R EEIRE 1F 24 |BF 2 = 540 520 770
R B8 1F 25  |BF 1 = 530 400 770
R B E 1F 26 |®T 1 = 560 460 830
R EEE 1F 27 |®F 1 =) 560 400 840
R B 1F 28 |BTF 1 =) 570 470 870
hRESIRE 1F 29 |BTF 2 = 560 460 860
R EEIEE 1F 30 |®TF 1 = 450 550 780
R EEIRE 1F 31 *vbExy b 1 =) 330 430 690
NCES 1F 1 Joery i 1 = 300 600 1800
REE 1F 2 TR 1 = 520 480 1290
REE 1F 3 BFL Y 1 = 400 470 390
REE=E 1F 4 ANy R 1 =) 990 1960 710
(UNCES 1F 5 F—7I 1 = 450 7800 700
UNCES 1F 6 BT 1 = 440 420 760
CES 1F 7 FLE 1 & 250 460 340
HRE=E 1F 8 EFF Ty * 1 =) 260 400 100
ZHRMME (1) 1F 1 Rl (ZBR) 1 = 420 700 870
CIAEE (1) 1F 3 REE 1 =) 450 450 880
ZeEEEmE (1) 1F 4 V77— 1 =) 710 640 670
R E (1) 1F 5 M 1 = 740 1060 750
ZHAEEE (1) 1F 6 BT 2 = 460 420 740
ZZAEEE (1) 1F 7 BT 2 =) 460 460 740
ZeHAEmE (1) 1F 8 M 1 = 630 630 750
ERABRE (1) 1F 9 7 4 )L R —UHRBOX 1 & 740 1340 740
EHRAEEE (1) 1F 10 | 1 = 470 610 1800
ZeIEEmE (1) 1F 11 |#8 1 = 470 1560 1810
BT (5) 1F B |HAEAT—Z 6 = - - -
ONEEEE 1F 1 1 1 = 300 500 590
OXEREE 1F 3 Yt o — 2 1 =) 500 880 880
ONEREE 1F 4 BT 3 = 600 620 920
ONEREE 1F 6 BT 3 = 540 580 840
ANEEREE 1F 7 BT 3 = 430 560 910
ONEEREE 1F 8 YA A — R 1 =) 640 400 880
ONERHEE 1F 9 *rvbExy b 1 = 610 730 1330
ONEEBEE 1F 10 |57 4 = 600 1800 700
EXEEEE 1F 12 |¥vExv b 2 =) 620 460 1400
ONEEEE 1F 13 |ZW 1 =) 520 880 880
ONEEREE 1F 14 | E48 1 = 520 880 970




ANEEREE 1F 15 |BRES 1 =) 380 380 670

BEE 1F 2 BT 1 = 410 480 750

BEE 1F 3 BEA 1 = 880 820 1870

Al 1F 2 (GESo) 1 = 600 1500 1730

HfFE=E 1F 3 BT 1 =) 440 440 740

X SR E 1F 1 i 3 = 500 1100 1120 |ER— 8
X IR = 1F 2 i 6 = 410 900 1100 |BR—L 8l
X $RIRFE 1F 3 i 6 =) 300 1200 1200 |ER—L &l
X R E 1F 4 B (BR—L) 2 = 570 750 1280 | R —L 8
X SR E 1F 5 FrbExv b 2 = 540 450 660 |E&R— L8
X B E 1F B |&ERR 2 = 60 50 38

X SRS E 1F BN | AREE 6 = 120 120 30

BEE 1F 1 Gl 1 = 450 570 1150

BEE 1F Bem (BT 1 = 600 460 890

REE 1F B [EED 1 = 900 1810 450 | RpEE
BEE 1F B |EEY 1 a 620 610 790 |RAED
BEE 1F BN [EEY 1 = 610 1320 390 |RipiBEY
BREE 1F B |BRESR 1 = 550 650 1470

BEE 1F B (T 2 & 900 1800 700

BEE 1F B |BRERS 1 = 550 650 1470

BEE 1F BN (77 2 = 600 1800 700

BEE 1F BN |fEES 1 = 900 1800 700 | R F— L8
BEE 1F B |F—7 3 =) 700 1600 720

BEE 1F BN |[fEES 2 = 910 1800 700 |ASY
BEE 1F B | KEAXTA 1 = 800 1300 2220

BEE 1F B ([ KERERTA b 8 a - - -

BEE 1F B | KRB 7R 4 B - - -

BEE 1F B = 11 = - - -

BREE 1F B |BEAYA 38 9 = - - -

BEE 1F B |LFEEA 1 = 60 130 40

B E 1F Em |®E 1 a 78 180 45

BEE 1F B |V 2Rm 2 = 85 85 45

BEE 1F B |#A 1 = 60 60 80

B E 1F Em  (&E 1 a 40 40 45

£Hh - RREREER 1F 3 <y T —2 1 = 98 74 92

Eh - RIBEREESE 1F 4 e TR = S 1 = 25 62 74

EH - RREREEE 1F 5 *rbixy b 2 = 34 62 74

Eh - RREREER 1F 6 *rvbxy b 1 = 51 62 74

Eh - RIBBEREREE 1F 7 FL—2& 1 = 135 95 90

EH - RAEREERE 1F 8 /NBIH 1 B2 31 40 105

EH - RAEREEE 1F 9 i 1 = 180 60 180

£ - RREREEE 1F 10 |/hBlH 1 = 88 40 88

EM - IZEREBEE 1F Bl [FrExv b 1 = 620 1620 1400

EM - IZREREEE 1F Bem |2 26 =) 880 1760 40

EMT - IxEREEE 1F Em |BF 3 a 580 550 780

E - ITRERNEEE 1F Bm |B\F 1 a 560 570 850

EM - IZREREEE 1F B |BRERS 1 = 390 390 680

EM - IZEREBEEE 1F ‘o [HF R 4 =) 2100 1800 10

ET - IRENEEE 1F B |mEieEs 1 a 470 750 1780

EM - IZREREEE 1F Bm |& 3 = 1000 2050 210

EM - IZEREEE 1F em |2 10 =) 820 820 15

EET (7) 1F 1 = 2 = 300 1350 250

BT (7) 1F 2 AU 1 = 990 1460 520

BT (7) 1F 3 J& <A 4 = 580 1500 1780

BT (7) 1F 4 EEY) 7 = 300 150 460

BT (7) 1F 5 EEY) 12 = 450 450 1680

BT (7) 1F 6 EEY 1 = 1790 1790 900

BT (7) 1F 7 e 1 = 380 500 590

BT (7) 1F 8 e 1 = 900 900 600

BT (7) 1F B |EEY - - T —> 3 v (REUREIR Y - SHE) 61 = - - -

EER (7) 1F BN &Y - =T — > a vy (REURETR Y - BRE) 7 B - - -

EET (7) 1F B &Y - —3 a3 v (RERENRY - BR) 23 = - - -

BT (7) 1F B :T:)=/\’f7( i* ) 24 =) - - -

BT (7) 1F BN (2B T (BREBER) 7 B - - -

BT (7) 1F Bl |SE/M TEE 6 B - - -

BT (7) 1F EBmn |2EE -7 1 = 1,500 1,500 -

BT (7) 1F BN |&EEEAES 1 = 500 700 400
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BEF (7) 1F BN &Y - BRe (ORED) 1 = 1,800 1,800 900
BT (7) 1F B |XHEITCHALE (RER) 2 =) 80 80 50
BT (8) 1F 1 N =R 2 = 400 1200 710
EEF (8) 1F 2 NYr—R 9 = 400 1800 710
EER (8) 1F 3 EEY) 9 = 450 450 1650
= HINEE 1F 2 YN EE 2 =) 600 740 1300
ZHUNEE 1F 3 IR E 3 = 600 740 1300

RS E RHNE E 1F 2 BT 1 = 620 490 750
RBE RN E 1F 6 BT 1 = 550 520 800
RSE RIS E 1F 7 *rbExy b 1 = 480 620 1340
REE BRI E 1F 8 FrExy b 1 = 620 1050 740
AN EERINEE 1F 3 BT 1 = 440 420 750
RN E 1F 2 B HE 1 = 700 520 760
BIAE 1F 1 YZgY—Ry IR 1 = 420 380 900
BIAE 1F 2 V77— 2 = 660 1200 890
BRA=E 1F 3 = 3 =) 350 600 450
BIAE 1F 4 BT 2 = 490 490 690
BAE 1F 5 ARy k 1 = 900 640 990
BRAE 1F 6 Ay b 1 = 900 800 990
Ay h—=% 1F 1 Oy h— 1 = 450 840 1800
Ayh—% 1F 2 = 1 = 400 400 700
Ayh—=% 1F 3 0y h— 1 = 520 840 1800
Ayh—=% 1F 4 Ay h— 5 = 450 840 1800
Ayh—% 1F 5 0w h— 3 = 450 840 1800
HTBRYE=E 1F 1 BT 1 = 410 410 760
FBRFEE 1F 2 BT 1 = 640 470 940
HTRFEHE 1F 3 SN 1 = 450 800 1060
HRYE=E 1F 4 FrbExv b 1 =) 540 900 660
FRYEE 1F 5 =N 1 = 600 1500 1780
HBRYEE 1F 6 F—7I 1 = 600 780 730
HREFEE 1F 7 = 1 & 450 450 700
FRFE=E 1F 8 = 1 = 450 450 750
FRFPEE 1F 9 EiR 3 = 500 800 1250
HTRFEE 1F 10 |E=4—%4 1 = 480 600 1000
TBRFE=E 1F 11 = 2 = 440 880 330
FRFEE 1F 12 |BF 5 = 510 590 720
HBRFEE 1F 13 FrExy b 2 = 540 650 660
HBRFEE 1F 14 |FLkE 1 = 200 500 390
TR H=E 1F 15 FLE+T ¥ 1 = 500 320 420
ERRZE (1) 1F 1 RILT 6 = 490 1230 980
75 Rik—I 1F 1 BF#HEZ) 1 = 580 470 740
A N Y 1F 2 ERYUNI T — X (A=) 1 =) 370 500 570
75y Rk—L 1F 3 I35 3 = 360 260 600
75y Rk—L 1F 4 Ny 7Ly hRZVE 1 = 480 840 1310
75y Rk—L 1F 5 BHFT 4 = 1010 390 890
77y Fk— 1F B ([ RE—H— 4 = 800 470 890
77y Rk—i 1F BN (RE—H— 3 = 800 510 980
77y Rk—i 1F Bem (BT 1 = 430 430 740
77y Rk—i 1F Bem |& 1 = 450 450 650
77 Rik—L 1F B |FLE (A1) 1 = 850 780 1710
77y Rk—i 1F Bem |(F—7 2 & 450 1800 700
77y Rk—i 1F BN ([ RYTF 4 = 630 1820 360
77y Rk—i 1F BmM |BRT—X 1 = 1300 4460 2010
75y Kk—I 1F BN |EHHEE 4 = 800 1100 1700
77y Rk—i 1F B A T7FA—vav 1 = 600 1800 2100
77y Rk—i 1F BN ([ RyTF 6 = 630 1820 360
75y Rk— 1F B (ST Ly hREVE 1 = 500 840 1300
75y Rk— 1F B | TLy RREVER 1 = 450 300 1600
77y Rk—i 1F BN (ST Ly hREVE 1 = 400 1040 1060
77y Rk— 1F B (A T7HA—Yav 1 = 600 1150 2000
75y Kk—i 1F B RN F 2 = 630 1820 360
77y Rk—i 1F B |SvTLy b REVE 1 = 410 700 1450
N Y 1F B |BR (EYeEiEs) 1 = 850 1350 990
75y Rk— 1F B THAR 1 = 1510 3000 850
752 Kk—ILWC% 1F 1 :‘“%ﬁ 1 = 360 260 600
75y RR—ILWC% 1F 2 NE—~Ry K 1 = 750 1000 910
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752 Rk—ILWC% 1F 3 Y=g —Ry R 1 B 420 370 880
752 RiE—ILWC% 1F 4 YZgY—Ry IR 7 =) 200 300 700
75w Rik—ILWC B 1F 1 ] 1 =) 350 260 600
nE— (1) 1F 1 N7y hREVR 1 = 670 270 1370
neE— (1) 1F 2 & 1 =) 350 500 740
nE— (1) 1F 3 N F 3 = 630 1820 370
nE— (1) 1F 4 N—FAf v 1 = 540 1290 1870
oE— (1) 1F 5 N7y hREVR 1 = 400 780 1500
nE— (2) 1F 1 MEER AR 1 & 600 900 2490
oE— (2) 1F 2 F—7I 6 = 450 1800 700
aE— (2) 1F 3 Ny T 4 = 650 1800 380
AE— (2) 1F 4 BT 1 =1 450 450 750
aE— (2) 1F 5 I35 1 =) 360 260 600
aE— (2) 1F 6 NR—=FAav 1 = 400 890 1840
aE— (2) 1F B [ZEy kT4 b 1 =1 - - — | RHHKE
HEEWCE 1F 1 ] 1 =) 360 260 600
HEEWCxK 1F 1 ] 1 = 360 260 600
HEEWCxK 1F 2 EYMAN (=&Y =Ry o R) 3 = 180 180 260
BE (4) 1F 1 PRI T 13 B 350 980 510
BE (4) 1F 2 BT 2 =) 450 450 750
BE (4) 1F 3 NE—H— 2 = 800 470 890
BE (4) 1F 4 BHET 2 = 1010 390 890
BE (5) 1F 1 BHE 1 = 850 960 730
BE (6) 1F 1 18 1 = 470 1200 1810
BE (6) 1F B |4 2 = 450 1800 1820
BE (6) 1F e | 1 = 590 650 1050
BE (6) 1F BN |BFEE 4 =) 660 390 850
EEZE1DS 1F 1 % (&) 2 = 500 500 440
HEE1IDS 1F 2 g% (G 7 = 500 500 470
#BEZE1DS 1F 3 (R 3 = 450 450 450
BEE1DS 1F 4 3% 3 = 360 260 600
BEE1DS 1F 5 pi 8 = 200 200 500
BEZE1DS 1F 6 N—F— g 1 & 330 840 1540
BEE1DS 1F 7 N—F— 3w 1 = 400 1250 1800
#EFEI1IEPS 1F 1 F—7N 4 = 450 1800 700
BEE1 1F 1 = 1 =) 590 460 650
BEE1 1F 2 EF =) 1 & 700 1060 1200
BEE1 1F 3 EF =) 1 = 530 750 1150
BEE1 1F 4 ER 1 = 400 290 1260
BEE1 1F 5 FLE 1 = 490 920 1150
BEE1 1F 6 FLEA 1 = 450 930 660
BEE1 1F 7 R4 RR—F 1 = 640 2240 1780
BEE1 1F 8 1 1 = 380 660 850
BEE1 1F 10 |BF 43 B 450 450 750
F74T 1F 1 F—7I 2 = 450 1800 700
R7AT 1F 2 Ry F 13 = 650 1800 380
R7AT 1F 3 BT 35 B 450 450 750
R4 T 1F 4 BFEE 2 =) 660 390 850
R4 T 1F 5 F—7N 13 & 450 1800 700
R7AT 1F 6 TIfEx 2 2 B 360 260 600
R4 T 1F 7 N=F A 3> 1 =) 540 1300 1870
R4 T 1F 8 IViNE x 3 (RAAHITER) 3 = 1060 470 1200
BE (7) 1F 1 i 2 = 650 1800 2070
BE (7) 1F 2 1 4 = 470 1500 1810
BE (7) 1F 3 1 2 = 850 1200 2120
BE (7) 1F 4 1 2 = 850 1800 2120
BE (7) 1F 5 BEIE LI 1 = 400 500 500
BE (7) 1F 6 Bk i 3 = 420 330 320
BE (7) 1F 7 TRy A —2 1 =) 450 100 330
BE (7) 1F 8 S s 2 = 450 1800 760
BE (7) 1F 9 R 2 = 640 110 1720
BE (7) 1F 10 DVDLa—%— 1 =) 520 540 220
BE (7) 1F 11 *rvbExy b 1 = 800 400 700
aE (7) 1F 12 OHP B Yz &— 1 =) 370 370 700
BE (7) 1F 13 OHPZ7AY o 4— 1 =) 540 350 580
= 1F 1 ‘T 4 = 450 450 750
7= 1F 2 BT 2 = 540 520 830
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T 1F 3 % 3 B 650 1800 370
7= 1F 4 V77— 1 = 700 1700 710
7= 1F 5 F—7I 1 = 600 1200 450
e 1F 6 V77— 2 = 740 740 720
7= 1F 7 BT 2 =) 400 400 410
BRE 1F 1 0y h— 2 =) 520 900 1790
BRE 1F 2 2/ 3 1 = 900 1800 60
#EDS 1F 1 BHa 2 =) 570 960 540
FEAERT 1F 1 BHas 1 = 850 950 730
FEEAET 1F 2 24k 1 = 570 1550 1770
FERET 1F 3 57,90 S 5 1# 500 500 470
FBEMEET 1F 4 oA CRE) 9 1# 450 450 450
FEABT 1F 5 " A (2ER) 7 1@ 500 500 440
HBEMET 1F 6 BT 1 = 450 450 750
FEMET 1F 7 9 1 = 600 6300 40
AEAIERT 1F 8 ISF I 1 = 700 1050 30
Fdc) 1F 1 AE—FH 1 = 550 1200 1040
MRE 1F 1 1 1 = 620 570 740
MRE 1F 2 1 1 = 700 540 740
MRE 1F 3 M 1 = 800 910 710
MRE 1F 4 *vbExy b 1 = 540 450 480
MRE 1F 5 0y Ah— 2 = 380 520 1000
MRE 1F 6 M 1 = 600 1200 700
MRE 1F B |RE 1 = 410 270 460
MRE 1F B |RER 2 = 530 280 300
BE (8) 1F 1 B 1 = 420 600 770
BE (8) 1F 2 = 1 = 550 550 750
BE (8) 1F 3 YN EE 1 = 520 380 1000
BE (8) 1F 4 FvbExy b 1 B 700 600 740
BE (8) 1F 5 AE—FH 1 =) 500 600 1160
BE (8) 1F 6 2 —H— 2 =) 600 760 1140
BE (8) 1F 7 AE—H— 2 = 400 400 570
BE (8) 1F 8 AE—H— 2 =) 300 400 580
BE (8) 1F 9 AT REYR 2 = 300 300 1440
BE (8) 1F 10 <A ORZYR 2 = 600 600 1650
BE (8) 1F 11 RS 4 1 = 530 600 300
EBE (2) 1F 1 BT 2 & 500 1500 1080
BBRE (2) 1F 2 PIIT 3 = 350 990 510
EBE (2) 1F 2 PRI T 3 = 350 990 510
EkE (2) 1F Bm  |REIF<y b 2 % 1500 1800 -
BBRE (2) 1F B [EEiIF<y b 1 % 1800 1200 -
F—TvFIR 1F 1 F—7I 5 = 900 900 740
F—7TTFIR 1F 2 BF 20 = 500 470 770
F—7vF IR 1F 3 I35 1 =) 520 1120 1000
FEE 2F 1 A 1 =) 450 550 650
HEE 2F 2 1A 1 =) 300 520 500
mEE 2F 3 BT 1 = 500 530 700
mEE 2F BN [UXHAE < 4 4 = 450 890 1200
HEE 2F Bm |& 1 = 450 450 700
FEE 2F Bin (T3 1 = 260 360 600
FEE 2F B | 4 = 1200 1600 700
HEE 2F Bl [HFx16 16 B 490 470 770
HEE 2F B | A 1 = 340 1510 1350
HEE 2F BN A< 3 3 =) 340 1510 1350
HEE 2F B |v7r— 1 = 600 1950 650
HEE 2F Bm |F-7 1 = 900 1800 580
HEE 2F BN [T x5 5 = 420 430 650
FEE 2F Bem |V7r— 1 =) 600 1950 650
HEE 2F B |\ 1 =) 420 430 650
HEE 2F BN A< 2 2 & 700 2700 1120
HEE 2F Bm o |# 1 = 700 1600 720
mEE 2F Bm  |BTF 1 = 550 550 800
FEE 2F B |4 1 = 450 550 800
FEE 2F B |(ET 1 = 600 600 870
mEE 2F BN (=T aav 1 =) 390 900 1390
BEE? 2F 1 YN EE 1 = 760 1200 2010
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BEE?2 2F 2 M 18 B 600 1800 700
BEE 2 2F 3 BT 38 =) 550 600 770
BEE?2 2F 4 FLE 1 = 600 1050 650
BEE?2 2F 5 EFA Ty F 1 = 300 430 110
HEE3 2F 1 BT 7 B 800 750 730
BEE3 2F 2 YN EE 1 = 760 1200 2010
BEE3 2F 3 BT 4 = 530 570 730
BE=E3 2F 4 F—7I 1 = 800 1300 700
BER3 2F 5 = 1 = 530 450 650 |E R — L&
BEE3 2F 6 F—7I 1 = 450 1800 700
HEE 3 2F 7 BRT — 2R 3 = 600 1500 1780
BERE3 2F 8 M 3 B 600 1800 700 | AH
BEE3 2F 9 BT 10 =) 800 750 730
HEE 3 2F 10 |B7F 8 = 800 750 730
HBEEE 3 2F 11 |B7F 5 = 550 600 770 | AR
HE= 3 2F 12 |BF 12 = 550 600 770 | A&
BEE3 2F 13 |& 4 = 900 1800 30
BEE3 2F 14 |F=7n 1 = 850 850 700 | A&
HEE3 2F 15 |FLE 1 & 610 780 540
BEES3 2F 16 EFHF Ty ¥ 1 =) 300 430 110
BE=E3 2F 17 |BT 8 = 550 600 770 |ABY
BE=E3 2F 18 |BTF 3 = 440 400 740
HERE3 2F 19 |#M 4 = 600 1800 700 |AHY
BEE 3 2F 20 |#L 3 = 600 1800 700 |ABY
BEE3 2F 21 ARy R REIL 1 = 400 1800 1630
EEEE 3 2F 22 BF 3 =l 550 600 770 | A&
BEE3 2F 23 |EHBTF 1 =) 600 220 830
HEE 3 2F 24 |FLE 1 = 200 550 380
BEE3 2F 25 |F—7 12 = 840 1400 430 [ A F— A+ H TR
BEES3 2F 26 |BTRY () 2 = 520 260 760
BEE3 2F 27 |EBT=® () 2 = 520 260 1140
=3 2F 28 |BT® (X) 10 = 520 260 1520
HE=3 2F 29 hLy — 1 =) 220 450 1610
BE (11) 2F 1 > 2 2 = 450 900 980
AE (11) 2F 2 EFH Ty ¥ 1 = 350 300 130
2E (11) 2F 3 ETH Ty % x 2 2 = 410 440 150
BE (11) 2F 4 7 a— 1 & 580 470 280
BE (11) 2F 5 Ty x2 2 = 450 880 2,100
BE (11) 2F 6 Ty X2 2 = 480 1,840 2,140
BEF (9) 2F 1 = 1 =) 630 500 870
EET (9) 2F 2 I35 1 = 360 260 600
BT (9) 2F 3 = 1 = 400 400 700
BT (9) 2F 4 0y h— 2 = 840 450 1,790
BT (9) sIWC% 2F 1 ] 1 =) 360 260 600
EET (9) BiWC% 2F 2 Y=g —Ry IR 2 =) 200 300 700
BE (9) 2F 1 il 1 = 240 800 1,500
BE (9) 2F 2 i 2 = 600 1,500 2,110
BE (10) 2F 1 i 1 = 250 880 1,500
BE (10) 2F 2 W CR&) 1 = 450 880 1,800
% BHEE 2F 1 Ny R 1 = 700 1800 600
% BHHHEE 2F 2 BF 6 = 800 750 770
% BHHMEE 2F 3 I35 1 = 260 360 600
% BHHEE 2F 6 BFEHEX 2 2 & 750 550 820
% BRHEE 2F 7 Y=L 1 = 370 300 240
% BRMHER 2F 8 N—F 43> 1 = 400 1250 1800
EE 2F B |4 1 = 2,100 2,620 1,800 [A&Y
BIEEE 2F 1 M 1 = 750 1,200 690
BIEEE 2F 2 M 1 = 450 1,200 700
BEEE 2F 3 0y h— 1 = 380 900 880
HEZEE 2F 4 0y h— 1 =) 520 900 1,790
BHEEE 2F 5 BT 2 =) 530 430 800
HEZEE 2F 6 BT 1 = 560 460 840
HEZEE 2F 7 0y h— 1 = 380 880 880
EHEZEE 2F 8 T 1 = 720 400 570
HEZEE 2F B |EBAN 1 = 450 1,200 700 |[&EH
EHEZEE 2F BN [EEAASIHL 1 = 730 410 570 | & /B s
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BHEEE 2F B T 1 B 760 1,200 690
HEEE 2F B |BF (38 3 = 510 440 840
BEZEE 2F em |AyAa— 1 = 520 900 1,800 |&E 5.
FHEZEE 2F Bem |AyAa— 1 = 380 900 880 (& B &
HEEE 2F Bem |myAa-— 1 = 380 880 880 |& /B8
FRIERE A 2F 1 BT 3 = 550 600 700 |ASY
BB RE A 2F 2 i 2 = 350 500 730
FRERE A 2F 3 HEET 1 =) 930 230 870
HRIEREFEP S 2F 1 i 3 = 600 600 630
HRIEREREP S 2F 2 TUa— 1 = 390 480 390
BREBREMFEPS 2F 3 F—7I 1 = 510 1180 480
R EREB 2F 1 BT 1 B 550 600 700 | AH
B3 ERE B 2F 2 1 2 =) 350 500 730
BB REOL — 2F 1 M 1 = 600 1,500 690
BAEREOL — 2F 2 M 1 =) 600 1,500 690
EREREO L — 2F 3 2 H 1 = 740 1,750 1,010
HREREDLE — 2F 4 L 1 = 730 400 740
HREREOL — 2F 5 J3f8 1 = 360 260 600
ERBTREOLE — 2F 3 BF 2 =) 550 520 830
ERBETREOL — 2F 4 BT 2 = 550 600 730 |ABY
HEE 2F 1 PIIT 1 = 970 350 510
HEE 2F 2 F—7I 2 = 450 1,800 700
HEE 2F 3 BT 7 = 450 420 750
MEE 2F 4 BIRE 1 = 460 430 960
ME=E 2F 5 F—7I 1 =) 450 1,800 710
MEE 2F 6 BT 3 B 450 440 750
KEE 2F 7 BF 1 = 540 520 850
= 2F 8 i) 1 = 400 290 1,580
HE=E 2F 9 0y h— 2 = 520 900 1,800
HEE 2F 10 =) 1 B 420 450 750 | A®
HE=E 2F 1 |5—7n 1 = 600 1,800 700
WEE 2F 12 |&E 1 = 490 460 670
MEE 2F 13 M 1 B 730 1,060 730
= 2F 14 |UNHhE 1 = 400 880 880
MEE 2F 15 |YinE 1 = 400 880 970 | #' 5 2B
HEE 2F 16 V77— 2 = 690 740 700
HE=E 2F 17 |5—7n 1 = 600 1,200 450 | AL
MEE 2F 18 V77— 1 = 740 1,700 700
MEE 2F 19 Oy h— 1 = 520 900 1,800
HEE 2F 20 |48 1 =) 960 450 1,820
KEE 2F 21 |EBTF 2 = 980 320 890
= 2F 22 |7—7 1 = 600 1,800 700 | AR
KEE 2F 23 |®\TF 1 = 450 440 750
MEE 2F 24 |®F 1 B 460 590 750 | A%
KE=E 2F 25 |BT 1 = 560 560 820
WEE 2F 26 &Ry b 1 = 240 190 270
BREmEME 2F 1 M 3 B 800 1,500 700
BREREME 2F 2 B 3 = 500 820 1,200
BREHREME 2F 3 il 1 = 450 1,460 940
BREBEME 2F 4 BRE 8 = 900 1,800 750
RREfHEM E 2F 5 AE—FH 1 = 460 750 1,000
RBREFEEME 2F 6 PIIT 1 = 350 980 500
BREFEME 2F 7 1 1 = 450 5,600 1,810
BN EME 2F 8 B 1 =) 450 450 650
RBREREME 2F 9 ¥ 3 14 =) 560 1,760 370
RREREME 2F 10 |BF2&E 10 = 560 1,150 370
BREmEME 2F 11 |B7F 2 = 450 470 750
BREmEME 2F 12 |B7F B 590 490 750
RBREREME 2F 13 |ZAE—F4A =) 350 640 1,000
BRERBEME 2F 14 474 = 360 580 1,280
RBREmEME 2F B |gESA-T—vary G- 5H) 20 = 150 — 560
RBREREME 2F B |gESA—-T—v a3y G- ) 25 =) 150 — 320
BREREME 2F B |EBAA-T—Yazr (BEER) 16 B 1,840 — —
BREREME 2F B |EBAA—-T—v a3 (EER) 33 = 920 — —
BREFEME 2F B |EAR (B && 20 B - - -
RBREREME 2F BN |RAMR GREFRY) 3 = - - -
BrEREME 2F em |7-tv—7 15 = - - -
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BrEREME 2F Bm  |BERERET —EE/ =) 14 = 845 40 30
BREmEME 2F B |ERRERE 7 — R ERE /S — ) 14 =) 780 115 350
RBREREME 2F B |&ERERE 7 — REE/ ) 14 = 870 30 70
BREREME 2F Bm  |EERERET —EE/ —Y) 14 = 110 125 30
BREREME 2F B |EERERE 7 — R ERE /S — ) 14 = 285 115 30
RBREREME 2F Bl [BERa—K 2 ] 370 450 290
BrEREME 2F BN |77 VILERTEE B 600 150 300
BREREME 2F B | T UNLEL m 1,350 450 800
BREFEME 2F B Ry EZAL (BB 100 B - - -
BrEREEME 2F EBM (LEF—X 19 a - - -
ETREREME 2F BN |BRE 75 m - - -
RBREREME 2F BN | FIRFyoNTHRE (kE) 1 = - - -
BREmEME 2F B (AT TA (ENELOED - BAE) 400 = - - -
RBREREME 2F B |NAavrvIA FRAE 3 = - - -
BrEREME 2F BN |BRE () SExIF 15 m - — -
BREREEME 2F BN | Z7 bL—EERRARY b (2 —F) 200 = - - -
BREmEME 2F Bl [#O0—FN—F—> 3> 11 =) 300 300 900
BREREME 2F BN (EZAR (2E) 8 = 400 350 1,100
BREREME 2F B [BO—F—F—> 3> 13 =) 350 350 900
BRERBEME 2F B [N RSR—F— g 31 =) 350 350 900
BREFEME 2F Bm |FvFravs @ 50 =) 190 190 100
BrEHEME 2F BmM |FrFvavd (B) 120 & 190 380 100
):'T\ HEfFEME 2F Bem | (3 2 =) 850 200 3,900
REHEME 2F B kLT (&R 2 = 500 140 2,300
T«E1rafr7f)$ 2F B |EEY - BRERARMR (RERY - BITI 1B%E) 26 M 460 900 60
BrEREME 2F BN |EEY - BRERXRIR (REhaRY - BITH 1R 9 ® 610 900 60
BREHEEME 2F BN |EEY - BrRERXIR (REmRY - BITL 18R] 17 58 920 900 60
RBREREME 2F BN |EEY - B REARR (RERY - BITL1BH)] 6 ® 920 1,360 65
BrEREME 2F BN |EEY - BRERXRIR (REaRY - BITE/RR] 7 054 920 1,800 65
BREREME 2F BN [EEY - ¥ T avh ORE - REemgsY - 3@ 37 =) 300 300 1,500
RBREREME 2F BN |EfEY - BEARRE CREBICEHATZANE. — 10 =) 450 450 200
BRERmEME 2F BN [EFY - DEERERY - %) 27 B 300 190 70
BrEREME 2F BN |EEY - RERERY - L —) 4 = 350 200 50
TEERERE 2F 1 NReTLy hR&ZVR 1 = 450 700 1,460
TBEERERE 2F 2 N7y hRZVR 1 = 310 450 1,460
TEERE 1 2F 1 BF (32) 2 = 560 1,760 370
BEERE 2 2F 1 BF (38) 2 & 560 1,760 370
TERERE 3 2F 2 BT 1 = 520 550 710
TERERE 4 2F 1 mF (2:) 5 = 560 1,150 370
TEERE4 2F 2 FLE 1 = 1,120 640 1,670
TEERE4 2F 3 oy hA 1 = 1,050 1,050 330
TEERERWC K 2F 1 Yral)—iRy 2 1 = 430 370 900
TEERERWC L 2F 2 RE—~Ry P 1 = 1,000 750 910
TERERETNWC X 2F 3 ] 1 = 360 260 600
TERETETWC X 2F 4 YU —iRy 7R 7 =) 200 300 700
BEERERWC B 2F 1 JIf8 1 = 360 260 600
W AT LY —nN—% | 2F BN | DENS CRE3E) 1 = 225 410 395
B R T LY —nN—% | 2F B0 [BAN 1 = 820 1,110 200
B AT LY —nN—%F | 2F BN (B2 (T - BR) 2 = 450 110 700
B AT LY —N—F | 2F BN |(XiTLEE (EEH - R 14 = 700 400 920
BRSO R T LY —N=—F | 2F BmM |XiTEE (ZEE - ﬁT%ﬂ” N 7 B 400 400 920
BR AT LY —N=F | 2F B |KifTLEE (@B - $TFE - X) 8 = 400 400 1,220
B A7 LY —nR—F | 2F BN | KFTE/ =Y (%Ei%-d\) = 500 30 500
BW R T LY —N=F | 2F BN |KOTE—Y (B - &) 19 = 900 30 600
B R T LY —N=—F | 2F B |KOTES=Y (BBE - X) = 900 30 900
BRSO RT LY —N=2 | 2F B |EEEKKTHALE (RE - /) = 25 25 300
BR AT LY —N—F | 2F B |&BEREKRNTHANE (RE - $) 36 = 25 25 600
BW R T LY —N=F | 2F BN |eREEKRITHALE CRE - X) 6 = 25 25 900
B 2T LY —N—% | 2F Bl |[EEREKTETHEEE (K& - X) 1 = 370 100 60
BR R T LY —N—F | 2F BN KT (R - BEE) 1 = 900 200 1,215
BW AT LY —N=2 | 2F BN [BETFEEEY CREZREMERY - e@E D) 9 B 450 450 700
B R T LY —nN—% | 2F BN [ERTFEREY (REZBRERRY 77 U ILRIEHY 10 =) 450 450 700
B AT LY —nN—%F | 2F B |BRT—X 1 =) 210 515 160
BR AT LY —N—% | 2F B |Ema (77 ULE) 1 = 450 320 130
BRS AT LY —N—% | 2F BN |THEAEREE (ZBEE) 1 =) 300 155 300
B AT LY —nN—%F | 2F BN |(BHoBRTEHAE (&EEME) 1 = 100 100 310
BR R T LY —N=2 | 2F Bm  (E@EmE (77 VULE) 1 = 200 220 250
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B AT LY —N—% | 2F B |BRAIZ—6 (T7YLE - A7) 2 = 160 120 50
B AT LY —nN—% | 2F B |ToULERYZITARY G 1 ] 430 530 180
B AT LY —N—%F | 2F B | RRy FREE (10 - 132 AY &17aAY -3 2 i 400 320 270
BR AT LY —N—% | 2F BN ([T VUNEERERE, BIBROHE 1 a8 1,000 350 200
BRS AT LY —N—% | 2F BN [REY RFA L R 3 ] 350 700 350
B AT LY —nN—%F | 2F B | REY R4 &R 2 ] 350 350 350
B AT LY —nN—%F | 2F BN |BMEORERE 1 i 350 700 350
BWS AT LY —N—% | 2F B |BRE (KREEEME - 7RY - ZEYETEAN] 2 =) 450 500 1,020
B R T LY —nN—% | 2F B |BRE (RE£ERE - gRY) 2 = 450 450 700
B AT LY —nN—%F | 2F B |EBERE 1 = 240 240 320
BR AT LY —N—% | 2F BN |BERERERSER 1 = 1,050 1,300 300
BR AT LY —N=F | 2F B |A—7 (1%2500< 5\ x12%) 1 = 300 300 330
BR AT LY —N=F | 2F B |BRE (CRE) 10 =) 180 20 60
B AT LY —nR—F | 2F BN &Y CRELERERY) 1 = 100 100 200
BRS AT LY —N—% | 2F BN [ZUBRE CR&- A7 L bRY) 1 B 200 200 150
B 2T LY —nN—% | 2F B |EEY &7z boyvay) 6 = 90 90 10
BR R T LY —N=F | 2F B [BEERKHT (K& 1 = 30 160 470
B AT LY —nR—F | 2F BN (Y EAAKNT (REZDHTY) 2 = 700 70 1,500
BWS AT LY —N—% | 2F BN |[vxFAEBE Btehy) 1 = 20 20 1,600
B 2T LY —N—% | 2F BN |AE (EEE - BEEH - 15x15%750) 1 i 800 150 100
BR AT LY —N—F | 2F B |AE (EEE - BEEHA - 156x15x400) 1 ] 600 150 100
B| AT LY —N—F | 2F BN % (1200m) 1 & 300 100 1,300
BRS AT LY —N—% | 2F BN |[Eem (10007h) 1 = 200 200 1,200
B AT LY —nN—%F | 2F B |A\AEEY A a0 18 = 400 400 550
BH AT LY —nN—% | 2F BN |AE (REL - 22 - BYREE) 1 = 50 50 2,210
BRS AT LY —N—% | 2F BN (R CRE - 22Y) 4 =) 50 50 2,850
B AT LY —nN—%F | 2F BN [FIR CRE - B&Y - AREIC250) 2 = 50 10 1,100
BRSO AT LY —N=2 | 2F BN [(BAILTCHKHN (F72XF v oHR) 1 fa 80 130 1,700
BH AT LY —nN—% | 2F BN [MEA TN (RE) 1 = 150 150 1,800
B AT LY —/N—% | 2F B |ERAE—LRE 1 ] 170 170 1,000
B AT LY —nN—%F | 2F ‘m | TAIvL—LA 3 ® 555 450 10
BH AT LY —nN—%F | 2F em |FAIvL—LA 1 % 620 430 10
BWS AT LY —N—% | 2F em |FAITL—LA 4 ® 740 530 10
B AT LY —N—% | 2F ‘i | TAIvL—LA 1 M 750 570 20
B AT LY —nN—%F | 2F BN |8 (RE-Fe<v b - 472K 1 i 1,190 690 40
BR AT LY —N=2 | 2F BN (B RE-FeEvy b - HI7RIR) 1 m 1,100 750 40
BRS AT LY —N—% | 2F BN |58 (R&E-Fevy b - H7ZR) 1 M 1,590 600 40
BW AT LY== | 2F BN |8 (R -Fevvy b H7XR) 4 & 515 385 40
B 27 LY —N—F | 2F BN | (RE-FeEvy b - HI7RIR) 1 i3] 650 540 40
BRSO AT LY —N=—F | 2F B |8 CR&E-Fevv b H7XIR) 1 ] 650 545 40
B AT LY —N—%F | 2F BN | (R -Fevy b - H72R) 1 ] 580 455 40
BRS X7 LY —N"—F | 2F BN |BE (R -SE<y b - BT RR) 1 m 645 490 40
B RT LY —nN—% | 2F B | (RE-FeEvy b HIRIR) 1 ] 1,020 590 40
B R T LY —nN—% | 2F BN |5 (RE - By b - A7 2ZR) 1 ] 750 740 40
B AT LY —nN—%F | 2F Bl | (R -Fevy b - H7ZR) 4 i 740 610 40
BHR XA F LY —N—F | 2F BN |8 CRE - 77 U ILiR) 5 ] 780 600 35
B XA F LY —N—%F | 2F B | R&E - 77 U ILiR) 2 ] 650 340 35
B AT LY —N—%F | 2F BN |5 CRE - 727 U IR) 3 ] 690 340 35
BRSO AT LY —N=2 | 2F B |8 CREL - 727 VU LIR) 2 M 545 425 35
B AT LY —/N—%F | 2F BN |8 CRE - 77 U ILiR) 1 i3] 680 560 40
B R T LY —N—% | 2F BN |FE (CRE - 77 U iR) 1 it 1,450 590 35
B AT LY —N—%F | 2F B | R&E - 77 U LiR) 1 ] 1,420 500 40
B AT LY —N—%F | 2F BN | RE - 77 U ILiR) 1 ] 560 440 25
B AT LY —N—% | 2F BN | T ARG ARR CRIL 1 M 660 570 35
BRSO AT LY== | 2F BN | ARESRIL (BEED) 1 M 905 900 30
BHRS X7 LY —N"—F | 2F BN (KRB SRV (BEED 1 M 605 1,200 25
BR AT LY —N—% | 2F BN [ ARESRIL (BEE) 2 ] 745 1,200 5
B R T LY —nN—% | 2F B |BiR ORE - 22Y) 1 M 1,050 460 20
B AT LY —nN—%F | 2F BN | Bk OREL - 22Y) 1 ® 450 450 55
B R T LY —nN—% | 2F ‘il (=T av 1 =) 420 900 1,850
B AT LY —nN—% | 2F BN (MR 4 = 460 150 1,800
B AT LY —nN—%F | 2F Bin [FLe 1 =) 260 1,100 700
B AT LY —N—%F | 2F B |[FLe 1 = 160 1,100 700
BRSO R T LY== | 2F Bem |FLe 2 = 210 1,100 730
BRSO R T LY —N=—F | 2F em |FLre 1 = 370 1,410 840
BRS AT LY —N—% | 2F Bem |FLe 1 = 290 1,820 1,070
B 27T LY —N—% | 2F B | 15 & 400 1,750 50
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BRYRT LY —/N—2 | 2F Bim |7V vi— 1 = 400 550 300
BRRT LY== | 2F B |FeYrog— 1 = 440 530 300
BRRAT LY== | 2F B |ETATYF 1 B 440 280 120
BRI AT LY== | 2F B |ETATYF 1 B 360 350 120
BH AT LY —N"=%F | 2F BN |ETHATYF 1 = 470 360 110
BRSO R T LY —N—2 | 2F BN |ETATvF 1 a 520 430 240
BW AT LY —/NR—F | 2F BN |ETATvF 1 = 500 430 220
BR AT LY —N—% | 2F emn |vao7v7 1 = 400 220 90
BR AT LY —N—% | 2F B | ET A ks 1 = 140 220 90
BERERE 2F 1 ‘mF (1:&) 4 = 600 600 370
BRETE 2F 2 BF 1 = 520 560 730
BRERE 2F 3 B/F 1 =) 520 570 790
BERERE 2F 4 BF (1) 3 =) 600 600 370
BRERE 2F 5 BF (1&) 3 =) 600 600 370
BRERE 2F 6 BF 7 a 520 560 730
BRELRE 2F 7 BF 3 a 520 560 730
BERERE 2F 8 BF 1 = 520 570 790
BRERE 2F 9 B’F 6 = 520 560 730
BRERE 2F 10 V7T = 1 = 1,580 500 350
Ta—YTLE-L 2F 1 BF 2 B 500 510 830
2=V TLE-L 2F 2 F—7I 1 = 600 1,800 700
2T LE—L 2F 3 I3F 7 = 360 260 600
Ta—YTLE—NL 2F 4 SfTE 1 =) 1,250 2,800 910
Ta—YTLE—NL 2F 5 =) 1 =) 450 450 760
Ta-YTLE-L 2F 6 £=E 1 a 440 1,500 880
Ta—YTLE-IL 2F 7 G F 2 = 280 280 480
Sa—YTLE—N 2F 8 INVH=ZFv T 1 B 360 360 1,670
Sa—-YTLE—L 2F 9 7wy 2 = 240 500 680
Sa—VTLE-L 2F 10 N7y bXZUE 1 a 400 770 1,500
Sa-YTLE-L 2F 11 Ny 7Ly bRZVE 1 = 360 780 1,100
Ta—YTLE-L 2F 12 Ry 7Ly bREZVF 7 B 360 780 1,100
Ta-VTLE-L 2F 13 ¥ 5 = 480 520 880
Sa—=YTLE—-L 2F 14 BF 16 a 800 750 730
Ta—YTLE-L 2F 15 F—7I 1 B 600 1,800 700
T2V TLE-L 2F 16 Ay h— 2 = 520 840 1,790
Sa-VTLE-L 2F 17 Ny 7Ly FREVE 1 =) 490 820 2,310
B - EEE 2F 1 F—7I 7 =) 850 600 700
BIZ - KEEE 2F 2 AT—7 7 = 550 550 700
BIZ - KEEE 2F 3 BF 59 a 500 550 700
B - RRERE 2F 4 NE—F 7 — 4 = 500 430 740
B - KEEE 2F 5 77— 1 a 2,000 500 350
IR - AKEE 2F 6 BETv* 1 = 300 490 50
R - KGR 2F 7 F—=TN 6 = 850 850 710
BZS - HEARE 2F 8 F—7 5 = 800 1,300 700
BIZK - KEEE 2F 9 TIf8 1 a 1,900 450 1,000
B - KEEE 2F 10 BF 20 = 500 550 700
BIZS - BEERE 2F B hovr—=5 1 = 600 2,410 950






